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TNPSC GROUP I MAIN – 2023 

SIMPLE INTEREST & MENSURATION – 2D TEST 

 
gphpT – m 

SECTION – A 
 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following questions: 
gpd;tUk; tpdhf;fSf;F tpilasp: 

 
a. Basha borrowed ₹ 8,500 from a bank at a particular rate of simple interest. After 3 years, 

he paid ₹ 11,050 to settle his debt. At what rate of interest he borrowed the money?  (5m) 

ghl;~h xU Fwpg;gpl;l jdptl;b tPjj;jpy; ₹ 8>500 tq;fpapy; fld; thq;fpdhu;. 3 
Mz;LfSf;Fg; gpwF> flidj; jPu;f;f ₹ 11>050 nrYj;jpdhu; vdpy; tl;b tPjk; vt;tsT?  

  

b. Find the simple interest and the amount due on ₹7,500 at 8 % per annum for 1 year 6 
months.                         (5m) 

₹ 7>500 f;F 8% tPjj;jpy; 1 tUlk; 6 khjq;fSf;F jdptl;biaAk; njhifiaAk; 
fhz;f. 

 
2. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 

a. A certain sum of money amounts to ₹ 6,500 in 3 years and ₹ 5,750 in 
1

1
2

years 

respectively. Find the principal and the rate percent.                  (5m) 

xU Fwpg;gpl;l mryhdJ 3 tUlq;fspy; &. 6>500 MfTk; 
1

1
2
 tUlq;fspy; &. 5>750 

MfTk; khWfpwJ vdpy; mry; kw;Wk; tl;b tPjj;ijf; fhz;f. 
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b. At what rate percent per annum at simple interest, will a sum triple itself in 16 years? 
                                                     (5m) 
jdptl;bapy; Mz;Lf;F vj;jid rjtPjk; tl;b tPjj;jpy;;> xU njhif 16 Mz;Lfspy; 
%d;W klq;fhFk;? 

 
3. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
a. In what time will ₹ 17800 amount to ₹ 19936 at 6% per annum?                               (5m)          

Mz;Lf;F 6% tl;btPjj;jpy; xU njhif ₹ 17800 ,ypUe;J vjid Mz;Lfspy; ₹ 19936  
Mf caUk;.           

 
b. If the length of the diagonal of a square is 20 cm, then what is its perimeter?               (5m)                                                                                                            

xU rJuj;jpd; %iytpl;lj;jpd; ePsk; 20 nrkP vd;why;> mjd; Rw;wsT vd;d?               
 

4. Answer the following questions: 
gpd;tUk; tpdhf;fSf;F tpilasp: 
 
a. A flooring tile has the shape of a parallelogram whose base is 24 cm and the 

corresponding height is 10 cm. How many such tiles are required to cover a floor of area 
1080 m2?                      (5m) 
xU jiu XL ,izfuj;jpd;  tbtj;ijf; nfhz;Ls;sJ> mjd; mbg;gFjp 24 nr.kP 
kw;Wk; mjDld; njhlu;Gila cauk; 10 nr.kP vdpy;> 1080 kP2 gug;gsitf; nfhz;l xU 
jsj;ij epug;Gtjw;F vj;jid XLfs; Njit? 

 
b. Find the area of a triangle, two sides of which are 8 cm and 11 cm and the perimeter is 32 

cm.                                      (5m) 
xU Kf;Nfhzj;jpd;  ,U gf;fq;fs; 8 nr.kP kw;Wk; 11 nr.kP kw;Wk; Rw;wsT 32 nr.kP. 
gug;gsitf; fhz;f. 

 
5. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
 
a. The area of a field in the shape of a trapezium measure 1440 m2. The perpendicular 

distance between its parallel sides is 24cm. If the ratio of the parallel sides is 5:3, then the 
length of the longer parallel sides is                                                                                  (5m) 
ruptfk; tbtpy; cs;s xU epyj;jpd; gug;gsT 1440 kP2 MFk;. mjd; ,izahd 
gf;fq;fSf;F ,ilNa cs;s nrq;Fj;J J}uk; 24 nr.kP. ,iz gf;fq;fspd; tpfpjk; 5:3 
vdpy;> ePskhd  gf;fj;jpd;  ePsk; fhz;f. 

 
b. The floor of an office building consists of 200 rhombus shaped tiles and each of its length 

of the diagonals are 40 cm and 25 cm. Find the total cost of polishing the floor at ₹ 45 per 
sq.m.                                                    (5 m)  
xU mYtyf fl;blj;jpd; jsk; 200 rha;rJu tbt XLfisf; nfhz;Ls;sJ kw;Wk; 
mjd; %iytpl;lq;fspd; ePsk; xt;nthd;Wk; 40 nr.kP kw;Wk; 25 nr.kP. jiuia 
nkU$l;Ltjw;F  xU rJu kPl;lUf;F &. 45 vdpy; nkhj;j nryit fhz;f. 
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gphpT – M 

SECTION – B 
 
Fwpg;G :  

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
Each question carries fifteen marks.  

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F kl;Lk; 
tpilaspf;fTk;.  
Answer any four questions out of five questions. 

     
(4 × 15 = 60)  

 
6. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 

a. In 4 years, ₹ 6500 amounts to ₹ 8840 at a certain rate of interest. In what time will ₹ 1600 

amounts to ₹ 1816 at the same rate?                                           (7.5m) 

4 Mz;Lfspy;> ₹ 6500 vd;gJ xU Fwpg;gpl;l tl;b tPjj;jpy; ₹ 8840 MFk; vdpy; ₹ 1600 mNj 
tl;b tPjj;jpy; ₹ 1816 Mf khWk; fhyk; fhz;f. 

 

b. P and Q invest ₹ 36,000 and ₹ 25,000 respectively at the same rate of interest per year. If at 

the end of 4 years, P gets ₹ 3,080 more interest than Q, find the rate of interest.       (7.5m) 

P kw;Wk; Q tUlj;jpw;F xNu tl;b tpfpjj;jpy; KiwNa ₹ 36>000 kw;Wk; ₹ 25>000 KjyPL 

nra;fpwhu;fs;. 4 tUl Kbtpy;> Q I tpl P f;F ₹ 3>080 $Ljy; tl;b fpilj;jhy;> tl;b 
tPjj;ijf; fz;lwpaTk;. 
 

7. Answer the following questions: 
gpd;tUk; tpdhf;fSf;F tpilasp: 
 
a. Divide Rs. 3,600 into two parts such that if one part be lent at 9% per annum and the other 

at 10% per annum, the total annual income is Rs. 333.          (7.5m) 
jdptl;b Kiwapy; xU gFjpia Mz;Lf;F 9% kw;Wk; kw;nwhd;W Mz;Lf;F 10% vd fld; 
nfhLj;jhy;> nkhj;j Mz;L tUkhdk; &.333 fpilf;f &.3>600I ,uz;L gFjpfshfg; 
gpupf;fTk;. 

 
b. At a certain rate of interest, the interest after 4 years on 5000 rupees principal is 1200 rupees. 

What would be the interest on 15000 rupees at the same rate of interest for the same period? 
                                                                                (7.5m) 
xU Fwpg;gpl;l tl;b tPjj;jpy;> 5000 &gha; mry; kPJ 4 Mz;LfSf;Fg; gpwF jdptl;b 1200 
&gha; vdpy;> mNj fhyj;jpw;F mNj tl;b tpfpjj;jpy; 15000 &gha;f;fhd jdp tl;b fhz;f. 

 
8. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
a. What sum of money invested at 7.5% p.a. simple interest for 2 years produces twice as 

much interest as Rs 9600 in 3 years 6 months at 10% p.a. simple interest?                  (8m) 

ve;j njhif 2 Mz;LfSf;F 7.5%  jdptl;bapy; KjyPL nra;ag;gLk; NghJ>   & 9600> 3 
Mz;Lfs; 6 khjq;fspy; 10% jdptl;bapy;  ngUk; tl;b njhifia tpl ,uz;L klq;F 
tl;bia <l;LfpwJ? 

 



 

4 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

b. If each side of a equilateral triangle is tripled then what is the percentage increase in the 
area of the triangle?                                                              (7m) 
xU rkgf;f Kf;Nfhzj;jpd; xt;nthU gf;fKk; Kk;klq;fhf mjpfupj;jy;> Kf;Nfhzj;jpd; 
gug;gstpy; vt;tsT rjtPjk; mjpfupf;Fk;? 

 
9. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 
a. The inside perimeter of a running track (shown in Figure) is 400 m. The length of each of 

the straight portion is 90 m and the ends are semi-circles. If track is everywhere 14 m wide, 
find the area of the track. Also, find the length of the outer running track.           (9m) 

                                  
xU XLk; ghijapd; cs; Rw;wsT (glj;jpy; fhl;lg;gl;Ls;sJ) 400 kP. xt;nthU Neuhd 
gFjpapd; ePsKk; 90 kP kw;Wk; Kidfs; miu tl;lq;fshf ,Uf;Fk;. ghij vy;yh 
,lq;fspYk; 14 kP mfyj;jpy; ,Ue;jhy;> XL ghijapd; gug;gsit fhz;f. NkYk;>  XLk; 
ghijapd; ntspg;Gw ePsj;ijf; fz;lwpaTk;. 

 
b. Find the radius, central angle and perimeter of a sector whose arc length and area are 27.5 

cm and 618.75 cm2 respectively.                                                           (6m) 
tpy;ypd; ePsk; kw;Wk; gug;gsT KiwNa 27.5 nrkP kw;Wk; 618.75 nrkP2 Mf ,Uf;Fk; xU 
tl;lf;Nfhzg;gFjpapd; Muk;> ikaf; Nfhzk; kw;Wk; Rw;wsT Mfpatw;iwf; fz;lwpaTk;. 

 
10. Answer the following questions: 

gpd;tUk; tpdhf;fSf;F tpilasp: 
 

a. The area between the circumferences of two concentric circles is 2464 cm2. If the inner circle 
has circumference of 132 cm, calculate the radius of outer circle.                                      (7.5 m) 
,uz;L xNu ikaKs;s tl;lq;fspd; Rw;wstpw;F ,ilNa cs;s gFjp 2464 nr.kP2. cs; 
tl;lk; 132 nrkP Rw;wsitf; nfhz;bUe;jhy;> ntsp tl;lj;jpd; Muk; fhz;f. 

 
b. The length and breadth of rectangular piece of land are in the ratio of 5 : 3. If the total cost 

of fencing it at the rate of ₹ 48 per metre is ₹ 19,200, find its length and breadth.       (7.5 m) 
nrt;tf tbt epyj;jpd; ePsk; kw;Wk; mfyk; 5 : 3 vd;w tpfpjj;jpy; cs;sJ. xU kPl;lUf;F 
₹48 tPjk; Ntyp mikg;gjw;fhd nkhj;jr; nryT ₹19>200 vdpy;> mjd; ePs mfyj;ijf; 
fz;lwpaTk;. 


